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A=[011/21/21; 10000 ; 00000; 001/200 ; 000 1/2 0]

A =
0 1.0000 0.5000 0.5000 1.0000
1.0000 (%] 0 0 0
0 (%] 0 0 0
(4] (%] 0.5000 0 0
(4] (%] 0 0.5000 0

[V D]=eig(A)

V =
0.7071 -0.7071 0.0000 0.0000 0.0000
0.7071 0.7071 -0.7071 0.7071 -0.7071
0 0 (] 7] 7]
0 0 (] 0.0000 (7]
0 0 0.7071 -0.7071 0.7071
D =

1 0 ] 0 (]

(] -1 ] 0 (]

] 0 (] 0 (]

] 0 (] 0 (]

] 0 (] 0 (]

V(:,1)/sum(V(:,1))

ans =

0.5000

0.5000
0
0
0

Google 1751
G=0.8*A+ (0.2/5)*ones(5)
0.0400  ©0.8400  0.4400  0.4400  0.8400
0.8400  0.0400  0.0400  0.0400  0.0400
0.0400  0.0400  0.0400  0.0400  0.0400

0.0400 0.0400 0.4400 0.0400 0.0400
0.0400 0.0400 0.0400 0.4400 0.0400

[V D]=eig(G)

V =
0.7382 + 0.0000i ©.7071 + 0.00001 ©.0000 + ©.0000i -0.0000 + 0.0000i - - -
0.6568 + 0.0000i -0.7071 + 0.00001 ©.7071 + ©0.0000i ©.7071 + 0.0000i
0.0663 + 0.0000i -0.0000 + 0.00001 -0.0000 + ©.0000i ©.0000 + 0.0000i
0.0928 + 0.0000i -0.0000 + 0.00001 -0.0000 + ©.0000i ©.0000 - 0.0000i
0.1034 + 0.0000i -0.0000 + 0.00001 -0.7071 + ©0.0000i -0.7071 + 0.0000i

D =
1.0000 + 0.00001 ©.0000 + 0.00001 ©.0000 + 0.00001i ©.0000 + 0.00001 * * *
0.0000 + 0.00001 -0.8000 + 0.0000i ©.0000 + 0.00001 0.0000 + 0.00001
0.0000 + 0.00001 ©0.0000 + 0.0000i ©.0000 + 0.00001 0.0000 + 0.00001
0.0000 + 0.00001 ©0.0000 + 0.0000i ©.0000 + 0.00001 -0.0000 + 0.00001
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0.0000 + 0.0000i1

0.0000 + 0.00001

V(:,1)/sum(V(:,1))

ans =
0.4453
0.3963
0.0400
0.0560
0.0624

Vo7 OEHE

A=[0 1/2 1/2 1/2 1; 10000 ; ©1/2000; 001/200 ; 000 1/2 0]

A =
0 0.5000
1.0000 0
0 0.5000
0 0
0 0

[V D]=eig(A)

V =
-0.6554 + 0.00001
-0.6554 + 0.00001
-0.3277 + 0.00001
-0.1638 + 0.00001
-0.0819 + 0.00001
D =
1.0000 + 0.0000i
0.0000 + 0.0000i
0.0000 + 0.0000i1
0.0000 + 0.0000i
0.0000 + 0.0000i

V(:,1)/sum(V(:,1))

ans

it % Google 175

G=0.8*A+ (0.2/5)*ones(5)

G =
0.0400 0.4400
0.8400 0.0400
0.0400 0.4400
0.0400 0.0400
0.0400 0.0400

[V D]=eig(G)

V =
-0.6687 + 0.00001
-0.6141 + 0.00001
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0.5000 0.5000

0 0

0 0

0.5000 0

0 0.5000
-0.3762 + 0.19061
0.6324 + 0.00001
-0.4230 - 0.21431
0.2103 + 0.28661
-0.0435 - 0.26301
0.0000 + 0.00001
-0.5949 + 0.30141
0.0000 + 0.00001
0.0000 + 0.00001
0.0000 + 0.00001

0.4400 0.4400

0.0400 0.0400

0.0400 0.0400

0.4400 0.0400

0.0400 0.4400

0.3762 - 0.19061
-0.6324 + 0.00001

0.0000 + 0.0000i

1.0000
(]

(]
(]
(]

.19061
.00001
.21431
.28661
.26301

-0.3762 -
0.6324
-0.4230
0.2103 -
-0.0435 +

OO0

0.0000 +
0.0000 +
.5949 -
0.0000 +
0.0000 +

.00001
.00001
.30141
.00001
.00001

OO0

0.8400
0.0400
0.0400
0.0400
0.0400

0.3762 + 0.19061i
-0.6324 + 0.00001
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0.0000 + 0.0000i

-0.0496 - ©

-0.5223 + 0.00001
-0.0882 + 0.4847i
0.4348 + 0.16361
0.2252 - 0.3758i
0.0000 + O

0.0000 + 0.00001
0.0000 + 0.00001
0.0949 + 0.5216i
0.0000 + 0.00001

0.0496 + 0.27241i - - -

0.5223 + 0.00001

.27241 - -

.00001 " * -



-0.3248 + 0.00001 ©.4230 + 0.21431i ©.4230 - 0.21431 0.0882 - 0.4847i

-0.2091 + 0.0000i -0.2103 - 0.28661 -0.2103 + 0.28661 -0.4348 - 0.1636i
-0.1628 + 0.0000i ©.0435 + 0.26301 0.0435 - 0.26301 -0.2252 + 0.3758i
D =
1.0000 + 0.00001 ©.0000 + 0.00001 ©.0000 + 0.00001 0.0000 + 0.00001i - - -
0.0000 + 0.0000i -0.4759 + 0.2411i ©.0000 + 0.0000i ©.0000 + 0.0000i
0.0000 + 0.0000i ©0.0000 + 0.0000i -0.4759 - 0.2411i ©.0000 + 0.0000i
0.0000 + 0.0000i ©0.0000 + 0.0000i ©.0000 + 0.0000i ©.0759 + 0.4173i
0.0000 + 0.0000i ©0.0000 + 0.0000i ©.0000 + 0.0000i ©.0000 + 0.0000i
V(:,1)/sum(V(:,1))
ans =
0.3378
0.3102
0.1641
0.1056
0.0823
AR 2 F\7- PageRank oy g
u=[1;0;0;0;0]
u =
1
0
0
0
0
(G"10)*u
ans =
0.3373
0.3115
0.1630
0.1064
0.0818
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